
1. How were correlation coefficients converted? 

 

Firstly,  

 

We convert from a correlation (r) to a standardized mean difference (d) using  
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The variance of d computed in this way (converted from r) is 
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and then,  

 

   We can convert from the standardized mean difference d to the log odds ratio 

(LogOddsRatio) using 

LogOddsRatio = d 
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   Where   is the mathematical constant (approximately 3.14159). The variance of 

LogOddsRatio would then be 

VLogOddsRatio = Vd 
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2. How were Cohen’s d values converted to ORs? 

 

   We can convert from the standardized mean difference d to the log odds ratio 

(LogOddsRatio) using 

LogOddsRatio = d 
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,                    

   Where   is the mathematical constant (approximately 3.14159). The variance of 

LogOddsRatio would then be
1
 

VLogOddsRatio = Vd 
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